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ELUE GREEN WHITE RED PURFLE KT ORANGE
Q42 Copper Box| 042 Copper Box| 242 Copper Box] @42 Copper Box| BA2 Copper Box| 242 Copper Box ] @42 Copper Box | @42 Copper Box
HaY- Ardleigh | BAD-Monteagle RED- ) HEw- ¢ ) Aak- h T 5t 1ZL- Tufnell Park
Grecn Junior Sch Pri %ch Aldersbrook Pri | Edwards RC Pri | WaL- Greenleaf Diaminic's Elizabeth's ek
Ech Zch Cathalic Pri Sch
Girls Eoys Girls Boys Girls Boys Girls Boys Girls Boys Girl= Boys Girls Boys Girls Boys
Obstacle Relay 16 1 12 14 3 10 14 1z 3 3 2 4 10 3 4 2
1+ 1Lap Relay 16 2 12 1 10 10 6 5 4 12 14 16 z & E 4
Z2+ZLapRelay 14 0 12 14 10 16 16 1z & & & 4 & z 4
B Lap Paarlauf 10 14 1 1 3 4 14 £ & 12 4 z 1z £ 2 10
Ower { Under Relay 18 16 14 14 z 12 12 4 & 1 4 £ 1 & 5 2
4 x1Lap Relay 1 1 15 15 10 12 12 & & & & 10 z 4 4 z
Chest Puzh 10 1 15 15 i & 10 & z 12 & 4 4 1 10
SpeedBounce i 1 12 14 12 S 1 1z & 4 4 S 0 2 2
Standing Long Jump 16 16 14 10 & 14 12 1z 4 3 10 5 5 2 2
Standing Triple Jump 16 14 14 16 12 5 0 1z 4 3 2 0 5 4 5 2
Verical Jump 16 14 0 1 3 £ & £ 4 14 12 0 14 4 2 2
Soft Javelin 18 10 12 1 & 14 12 2 2 & £ 12 5 £ 14 £
Total 174 156 160 176 104 122 142 102 64 106 i) G4 &6 76 BB 4a
Combined Total 330 336 236 a4 170 162 162 114
Combined Position 2 1 4 3 5 £ & &

Virtual Total 1530 1566 1700 1724 1530 1556 1561 1461
Virtual Team Award GOLD GOLD GOLD GOLD SILYER SILYER
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